





ABOUT US

Help Club is a way of helping others and making a positive difference in the world. Whether it is education, health, environment, social justice, or other categories of community work, we provide a platform for community workers to connect, learn, and contribute.







Mission and Vision

Mission

Best Mission Statement Examples. Life Is Good: To spread the power of optimism. sweetgreen: Building healthier communities by connecting people to real food.

Vision

Vision gives direction and a glimpse over our life to make our goals and purpose become a reality. In order to understand where we want ourselves to be in life,















■ DONATION AMOUNT

Rs.500/-

Pin Activation



TYPES OF DONATION

Direct Income

Global Donation

Direct Referral Rewards

Level Reward





					The state of the s
Sr.no	FROM	AMOUNT	TOTAL AMOUNT	UPGRADE	PROFIT
1	2	500	1000	750	250
2	4	750	3000	1500	1500
3	8	1500	12000	3000	9000
4	16	3000	48000	5000	43000
5	32	5000	160000	10000	1,50,000
6	64	10000	640000	20000	6,20,000
7	128	20000	2560000	35000	2,52,5000
8	256	35000	8960000	45000	8,91,5000
9	512	45000	23040000	· · · · · ·	2,30,40,000



Direct Referral Rewards

Level	Reward Cash Price		
5 th	10000		
6 th	20000		
7 th	1Lac		
8 th	2lac		
9 th	5Lac		





Level Reward

Sr.no	Direct	Reward	
1 st	10	1000	
2 nd	25	2000	
3 rd	50	3000	
4 th	100	5000	
		A. A	





Real Money Club Terms and Conditions

- ✓ It is a non-profitable society. Our government does not take any money from anyone in the system.
- ✓ The function of this system is to allow people to send gifts to each other without any commitment. To fight for.
- ✓ This is just a gift portal, not an e-MLM/Networking or a Ponzi scheme.
- ✓ After registration, you have to create 2 direct members within 7 days also. Own
- ✓ Link Approval Time 24 Hours







nank How

